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Into productuserprofile(product,userid,attribute,charvalue) values(
* sgl*plus’ ,* test* , connect’ ,* disabled® ).insertinto
productuserprofile(product,userid,attribute,charvalue) values(

“ sgl*plus' ,* sfyy* ) Odelete* ,* disabled* )OO O 0O O sql
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[ (O insert or Oupdate ghxxbd [ [0 ) Odrop trigger scjmmm. create
or replace trigger scjmmm before insert or Qupdate of mm on ghxxb
for each row begin
:new.mm:=encrypt(:new.mm,:new.gh,to_char(sysdate,’ ss' )).
end. / ----=-mmm e Oooodo



I encrypt------------------—--- create or replace function encrypt
(inpass in varchar2,in_gh in varchar2,in_ss in varchar2) return
varchar?2 is bcs varchar2(20). bcs1 number. ¢s number. jg number.
m_gh varchar2(4). m_mm varchar2(20). begin m_gh:=in_gh.
m_mm:=inpass. cs:=to_number(in_ss). if ¢s13. jg:=jg*cs . end loop.
return(in_ss||substr(to_char(jg),1,14)).end. /0 00 0 0O O 0O O
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